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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 Total
1 16 25 20 20 11 13 11 20 25 25 25 25 25 25 25 20 50 50 25 16 20 25 16 25 11 25 50 50 25 25 25 25 794
2 20 11 13 25 25 25 25 13 13 11 20 16 18 20 20 11 16 11 25 13 20 11 32 32 16 16 16 16 510
3 8 8 10 8 8 9 9 13 8 10 9 11 6 4 26 16 20 25 20 20 20 25 16 40 40 20 20 20 20 469
4 Will Hodgson 9 9 16 16 10 10 13 13 20 20 20 9 9 22 40 13 10 13 11 13 13 26 20 10 10 8 9 392
5 Bradley Jones 11 11 10 13 11 16 16 16 20 16 16 16 13 13 32 26 10 13 11 13 9 10 10 18 18 368
6 Louis Dawson 3 9 7 8 7 10 6 13 8 2 18 11 9 10 16 16 16 20 22 22 13 13 13 10 282
7 Alex Baker 10 10 11 9 7 6 7 10 9 5 6 6 8 4 16 10 8 7 8 10 11 6 9 9 20 26 8 10 11 277
8 Lewis Rollo 13 16 5 8 11 11 7 9 13 10 20 25 20 32 16 25 13 5 259
9 Harry Coomber 25 20 25 25 20 16 1120 10 9 13 11 11 5 4 9 9 243
10 Dean Court 5 6 7 6 6 6 8 5 7 6 4 7 8 8 40 22 4 1 3 2 7 5 4 4 10 14 9 6 7 227
11 George Stanley 6 6 5 2 3 4 6 5 8 8 8 9 7 7 6 6 7 6 5 7 10 10 7 8 16 12 8 9 13 214
12 Jamie Thackeray 7 13 13 9 16 20 20 9 7 16 10 7 10 10 10 12 8 197
13 Rhys Hutchinson 1 2 4 1 2 383 8 383 2 3 2 6 3 5 10 14 2 2 4 3 8 9 6 7 7 11 11 134
14 Keenan Armstrong 2 13 1 3 5 5 5 14 12 9 8 8 5 7 5 14 16 123
15 Luke Thackeray 7 8 4 4 5 10 9 6 11 11 16 16 6 113
16 Gideon Thomas 4 4 3 3 3 4 2. 2 5 4 4 7 3 3 8 8 6 3 6 4 8 8 5 107
17 Cameron Lee 2 5 7 1 4 4 4 2 5 3 4 6 12 4 3 5 7 6 6 10 5 105
18 Sam Wilford 4 4 3 1 6 4 1. 7 5 8 53
19 Ryan McAdam 3 2 2 8 6 6 4 31
20 Lukas Backstrom 9 7 6 22
21 Sam Edwards 4 2 6 3 3 18
22 Matt Rangeley 1 2 1.2 1 1 4 2 14
23 Conor Wheeler 1 5 5 3 14
24 Adrian Pendrill 3 5 1 2 2 13
25 Jack Blake 5 1 6
26 Joey Thompson 2 2
27 Aaron Clifford 2 2
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